MATH 1522 — HW 12 Due: Monday Nov 18, 2024

HOMEWORK DAY 35 — Modeling with Differential Equations §9.1

1. Show that y = v/1 — 22 solves the differential equation yy’ + x = 0.

2. Show that y = Inx solves the differential equation zy” + 3y = 0.



3. §9.1: 21 (for what values of P is population increasing/decreasing/at equilibrium?)

4. §9.1: 23 (explain why given functions can’t be solutions to given ode)
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5. Find the solution to the initial value problem ﬁ e y(2) =1
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6. Write the solution to the initial value problem d—y =e ¥, y(5) =0 in integral form.
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